initial ______


1.  In class (and in the text), three approaches for refining a costing system were discussed.  What are they?
2. On 6/1/2002, Yamamoto Inc. began production of a powerful cell phone battery (known as Spark II).  Yamamoto uses a standard cost system to account for mfg. costs.  The standard labor costs for Spark II are (0.25 hours * $30 / hour)  $7.50 per battery.  The budgeted production for June was 6,000 Spark II batteries. For the month of June, the company actually produced 5,000 Spark II batteries, the direct mfg. labor price variance was $3,000 F, and the direct mfg. labor efficiency variance was $3,200 U.

What is the flexible budget for direct labor costs?
How many direct labor hours were actually worked?
What was the actual direct labor wage rate?
3. Name the four approaches to estimating a cost function (discussed in class and the text).

4. If you can make and sell all of five products that you produce but have a constraint (e.g., machine hours available), what should you consider in making the product-mix decision?

5.  The PHO Bread Company bakes bagels for distribution.  The company has two direct-cost categories:  direct materials and direct labor.  Fixed mfg. overhead (FMOH) is allocated to products on the basis of standard direct mfg. labor hours.  PHO’s standard direct mfg. labor use is 0.02 hours per bagel and standard FMOH is $4.00 per direct labor hour.  For the year ended 12/31/2003:

Budgeted output = 3,600,000 bagels

Actual production = 3,300,000 bagels

Direct labor = 64,000 hours

Actual FMOH = $270,000

What is the production-volume variance for 2003? 

What is the spending (flexible-budget) variance for 2003?

Is FMOH over- or under-allocated?  By how much?

6. Meals on Wheels (MOW) has a contact with 20 restaurants to pick up and deliver meals to customers who phone or FAX orders to MOW.  MOW is currently examining its variable overhead costs (VOH) for Feb. 2004.  VOH was budgeted at $1.60 per home delivery.  The planned number of deliveries for Feb. was 8,000.  Delivery time is the allocation base for VOH and was budgeted to be 0.80 hours per delivery.  (MOW uses normal costing.)  


Actual results for Feb. are:

VOH = $14,174




Number of deliveries = 7,400



Hours of delivery time = 5,595

What is the spending variance for VOH for Feb.?

What is the VOH efficiency variance for Feb.?

7. Operating income is usually different under absorption versus variable costing.  What is the reason for this difference?

8. Distinguish between a joint product and a byproduct.

9. The FONG Company produces water valves used in agriculture.  FONG has two operating departments: assembly (A) and finishing (F) and two support departments: personnel (P) and maintenance (M).  Maintenance costs are allocated to departments based on square footage of floor space, and Personnel costs are allocated based on number of employees.  Single-support department cost pools are used at FONG.  The actual annual (2003) costs for P are $1,500,000 and for M they are $900,000.  FONG allocates support costs based on actual usage.  Actual usage of support departments was:

	
	Used by:

	Supplied by:
	Personnel
	Maintenance
	Assembly
	Finishing

	Personnel

(# employees)
	5
	15
	50
	30

	Maintenance

(Sq. footage)
	500
	1,000
	10,000
	5,000



What amount of total support costs will be allocated to Assembly if the direct method is used?                 


What amount of total support costs will be allocated to Finishing if the step-down method is used and P is ranked first?

What is the equation for Personnel’s artificial cost if the reciprocal method is used?

10. Larry, Inc. produces two products from a joint process:  Goop and Slop.  Both products are purchased and consumed by upscale high-end gourmets.  Larry harvests rotten-log fungi which grow in Larry’s rotten-log lot in the middle of the forest.  The fungi are processed into  pre-goop and pre-slop which are identified at the split off point and can be sold for $45  and $65 per pound, respectively.  The joint costs for 2002 are $435,000.  It costs $15 per pound to process pre-goop into Goop which sells for $75 per pound, and it costs $22 per pound to process pre-slop into Slop which sells for $95 per pound.  During 2003 (first year of operations), 10,000 pounds of fungi were processed to yield 5,000 pounds of Goop and 4,500 pounds of Slop.  During 2003, Larry sold 4,800 pounds of Goop and 4,000 pounds of Slop.  Assume that there is the same weight of pre-goop and pre-slop as the finished products Goop and Slop.


What amount of joint costs will be allocated to Goop if the sales-value-at-splitoff method is used?



What amount of joint costs will be allocated to Goop if the Net-realizable value method is used? 


What amount of joint costs will be allocated to Goop if the constant-gross margin NRV method is used?


What amount of joint costs will be allocated to Goop if the physical-measure method is used? 
11. YoYo Battery Company currently has two divisions:  Core Assembly and Finishing.  The Finishing Division buys 20,000 battery cores from the Core Assembly division for $35 each.  The Core division has capacity to make 25,000 cores a year.  Every 2 years the divisions negotiate a transfer price for the battery cores—it is that time again.  The core division’s cost structure is:


Fixed costs = $10 per battery (at capacity) 

Variable costs = $20 per battery


The Finishing Division has recently surveyed the battery core market and has learned that it can purchase cores for $25 each.  The Core Assembly Division has no alternative use for its capacity, but it can save ½ of its fixed costs if it shuts down (which it can do at anytime).


What is the minimum transfer price per core that the core division is willing to take to transfer internally?      

What is the maximum transfer price per core that the Finishing Division is willing to pay to transfer internally?


What will maximize overall company profits?


Now assume that the Core Assembly Division can either make 20,000 cores and transfer internally or make 16,000 marine cores for marine applications and sell to a marine supplier.  The marine cores sell for $51 each and have projected variable costs of $40 each.


What is the min. and max. transfer price?


What will happen when the Core division has this additional alternative for use of its capacity?  Will this be in the best interests of YoYo?

12. A multinational corporation has two divisions that transfer an intermediate product from the selling division to the buying division.  If the buying division is in a lower taxed country than the selling division, what should the corporation do with the transfer price to save on taxes?

13. What is a balanced scorecard?
14. ABC systems:


a.
highlight the different levels of activities


b.
limit cost drivers to units of output


c.
allocate costs based on the overall level of activity


d.
generally undercost complex products

15. During October, Mayan produced 700,000 regular ceramic paperweights and Mayan’s production manager counted 2,000 orders; 1,000 maintenance-hours; 2,000 setups; and 2,000 inspections for the regular product line. For October, Mayan’s controller assigned _________ indirect costs to the regular product line.


a.
$43,000


b.
$25,000


c.
$34,000


d.
None of these answers are correct.

16. A well-designed, activity-based cost system helps managers make better decisions because information derived from an ABC analysis:


a.
can be used to eliminate nonvalue-added activities.


b.
is easy to analyze and interpret.


c.
takes the choices and judgment challenges away from the managers.


d.
emphasizes how managers can achieve higher sales.

THE FOLLOWING INFORMATION APPLIES TO QUESTIONS 17 AND 18:

LeBlanc Lighting manufactures small flashlights and is considering raising the price by 50 cents a unit for the coming year. With a 50-cent price increase, demand is expected to fall by 3,000 units.





Currently
Projected


Demand 

20,000 units
17,000 units


Selling price
$4.50
$5.00


Incremental cost per unit
$3.00
$3.00

17.
If the price increase is implemented, operating profit is projected to:


a.
increase by $4,000


b.
decrease by $4,000


c.
increase by $6,000


d.
decrease by $4,500

18.
Would you recommend the 50-cent price increase?


a.
No, because demand decreased.


b.
No, because the selling price increases.


c
Yes, because contribution margin per unit increases.


d.
Yes, because operating profits increase.

19. For decision making, a listing of the relevant costs: 


a.
will help the decision maker concentrate on the pertinent data


b.
will only include future costs


c.
will only include costs that differ among alternatives


d.
All of these answers are correct.

20. Qualitative factors:


a.
generally are easily measured in quantitative terms


b.
are generally irrelevant for decision making


c.
may include either financial or nonfinancial information


d.
include customer satisfaction

21. One-time-only special orders should only be accepted if: 


a.
incremental revenues exceed incremental costs


b.
differential revenues exceed variable costs


c.
incremental revenues exceed fixed costs


d.
total revenues exceed total costs

1. In class (and in the text), three approaches for refining a costing system were discussed.  What are they?
(1) More direct costing


(2) More homogeneous cost pools


(3) Better cost-allocation bases

2. On 6/1/2002, Yamamoto Inc. began production of a powerful cell phone battery (known as Spark II).  Yamamoto uses a standard cost system to account for mfg. costs.  The standard labor costs for Spark II are (0.25 hours * $30 / hour)  $7.50 per battery.  The budgeted production for June was 6,000 Spark II batteries. For the month of June, the company actually produced 5,000 Spark II batteries, the direct mfg. labor price variance was $3,000 F, and the direct mfg. labor efficiency variance was $3,200 U.

What is the flexible budget for direct labor costs?
5,000 * $7.50 = $37,500                        noname budget = $37,500 + 3,200 = $40,700



                                             actual = $40,700 – 3,000 = $37,700

How many direct labor hours were actually worked?
$30 / hr * Xhrs = $40,700  ( X = 1,356.67 hours
What was the actual direct labor wage rate?

$37,700 = 1,356.67 hrs * $Y / hr.  ( Y = $27.788629 / hr.

3. Name the four approaches to estimating a cost function (discussed in class and the text).

(1) Industrial Engineering Method


(2) Conference Method


(3) Account Analysis Method


(4) Quantitative Analysis Method

4. If you can make and sell all of five products that you produce but have a constraint (e.g., machine hours available), what should you consider in making the product-mix decision?

Make product with the greatest CM per unit of constraint (e.g., CM / # machine hrs.).

5.  The PHO Bread Company bakes bagels for distribution.  The company has two direct-cost categories:  direct materials and direct labor.  Fixed mfg. overhead (FMOH) is allocated to products on the basis of standard direct mfg. labor hours.  PHO’s standard direct mfg. labor use is 0.02 hours per bagel and standard FMOH is $4.00 per direct labor hour.  For the year ended 12/31/2003:

Budgeted output = 3,600,000 bagels

Actual production = 3,300,000 bagels

Direct labor = 64,000 hours

Actual FMOH = $270,000

What is the production-volume variance for 2003? 
 $288,000 - $264,000 = $24,000 U
What is the spending (flexible-budget) variance for 2003?
$288,000 - $270,000 = $18,000 F
Is FMOH over- or under-allocated?  By how much?
Under-allocated by $6,000;  $270,000 - $264,000  or   $24,000 U + $18,000 F


Budget (lump sum) FMOH = 0.08 * 3,600,000 = $288,000



Allocated FMOH = 0.08 * 3,300,000 = $264,000



Actual FMOH = $270,000

6. Meals on Wheels (MOW) has a contact with 20 restaurants to pick up and deliver meals to customers who phone or FAX orders to MOW.  MOW is currently examining its variable overhead costs (VOH) for Feb. 2004.  VOH was budgeted at $1.60 per home delivery.  The planned number of deliveries for Feb. was 8,000.  Delivery time is the allocation base for VOH and was budgeted to be 0.80 hours per delivery.  (MOW uses normal costing.)  


Actual results for Feb. are:

VOH = $14,174


Flex = $1.60 * 7,400 = $11,840
Number of deliveries = 7,400

NoName = 5,595 hrs * $2.00 / hr = $11,190
Hours of delivery time = 5,595
Actual = $14,174

What is the spending variance for VOH for Feb.?
$14,174 – 11,190 = $2,984 U
What is the VOH efficiency variance for Feb.?

$11,840 – 11,190 = $ 650 F

7. Operating income is usually different under absorption versus variable costing.  What is the reason for this difference?


FM costs are treated differently; under AC, FM costs are part of inventory, but under VC FM costs are al expensed in the period incurred.  If there is a change in inventory levels, there is a difference.

8. Distinguish between a joint product and a byproduct.

Joint products have relatively high sales values at split off.  Byproducts have relatively low sales values at split off.

9. The FONG Company produces water valves used in agriculture.  FONG has two operating departments: assembly (A) and finishing (F) and two support departments: personnel (P) and maintenance (M).  Maintenance costs are allocated to departments based on square footage of floor space, and Personnel costs are allocated based on number of employees.  Single-support department cost pools are used at FONG.  The actual annual (2003) costs for P are $1,500,000 and for M they are $900,000.  FONG allocates support costs based on actual usage.  Actual usage of support departments was:

	
	Used by:

	Supplied by:
	Personnel
	Maintenance
	Assembly
	Finishing

	Personnel

(# employees)
	5
	15
	50
	30

	Maintenance

(Sq. footage)
	500
	1,000
	10,000
	5,000



What amount of total support costs will be allocated to Assembly if the direct method is used?                 


A will get 50/80 of P’s cost and 10/15 of M’s cost 


($1,500,000 * 0.625) + ($900,000 * 0.66666) = $937,500 + $600,000 = $1,537,500


What amount of total support costs will be allocated to Finishing if the step-down method is used and P is ranked first?
	
	Maint.
	Assembly
	Finishing

	P ($1,500,000)
	$236,842

(15/95) = 0.1578947
	$789,474

(50/95) = 0.5263157
	$473,684

(30/95) = 0.3157894

	M
	($1,136,842)
	$757,895

(10/15) = 0.66666
	$378,947

(5/15) = 0.333333

	Total = 
	
	$1,547,369
	$852,631


What is the equation for Personnel’s artificial cost if the reciprocal method is used?

P = $1,500,000 + 0.032258 M


500 / 15,500 = 0.032258                    

10. Larry, Inc. produces two products from a joint process:  Goop and Slop.  Both products are purchased and consumed by upscale high-end gourmets.  Larry harvests rotten-log fungi which grow in Larry’s rotten-log lot in the middle of the forest.  The fungi are processed into  pre-goop and pre-slop which are identified at the split off point and can be sold for $45  and $65 per pound, respectively.  The joint costs for 2002 are $435,000.  It costs $15 per pound to process pre-goop into Goop which sells for $75 per pound, and it costs $22 per pound to process pre-slop into Slop which sells for $95 per pound.  During 2003 (first year of operations), 10,000 pounds of fungi were processed to yield 5,000 pounds of Goop and 4,500 pounds of Slop.  During 2003, Larry sold 4,800 pounds of Goop and 4,000 pounds of Slop.  Assume that there is the same weight of pre-goop and pre-slop as the finished products Goop and Slop.


What amount of joint costs will be allocated to Goop if the sales-value-at-splitoff method is used?
SV at split off :  pregoop = $45 * 5,000 = $225,000







  Preslop = $65 * 4,500 =    292,500    Total = $517,500


Allocate joint costs:  Goop: $435,000 * (225 / 517.5) = $189,130




     Slop:  $435,000 * (292.5 / 517.5) = $245,870


What amount of joint costs will be allocated to Goop if the Net-realizable value method is used? 





NRV::  Goop = (75 – 15) * 5,000 = $300,000






Slop = (95 – 22) * 4,500  =  $328,500     Total = $628,500


Goop:  $435,000 * (300 / 628.5)  =  $207,637

Slop :  $435,000 * (328.5 / 628.5) = $227,363


What amount of joint costs will be allocated to Goop if the constant-gross margin NRV method is used?






Sales – joint costs – separate costs = GM;    GM% = GM / Sales


GM = ($75 * 5,000) + ($95 * 4,500) - $435,000 – ($15 * 5,000) – ($22 * 4,500) = 



 = $375,000 + 427,500 – 435,000 – 75,000 – 99,000 =  $193,500

GM% = $193,500 / 802,500 = 0.2411214

Goop CoGS = $375,000 * (1 – 0.2411214) = $284,579


Joint costs allocated to Goop = $284,579 – 75,000 = $209,579

What amount of joint costs will be allocated to Goop if the physical-measure method is used? 

Goop:   (5000 / 9500) * $435,000 = 0.5263157 * $435,000 = $228,947

Slop:  (4500 / 9500) * $435,000 = 0.4736842 * $435,000 = $206,053

11. YoYo Battery Company currently has two divisions:  Core Assembly and Finishing.  The Finishing Division buys 20,000 battery cores from the Core Assembly division for $35 each.  The Core division has capacity to make 25,000 cores a year.  Every 2 years the divisions negotiate a transfer price for the battery cores—it is that time again.  The core division’s cost structure is:


Fixed costs = $10 per battery (at capacity)   Total FC = $250,000 or $12.50 / battery transferred


Variable costs = $20 per battery


The Finishing Division has recently surveyed the battery core market and has learned that it can purchase cores for $25 each.  The Core Assembly Division has no alternative use for its capacity, but it can save ½ of its fixed costs if it shuts down (which it can do at anytime).


What is the minimum transfer price per core that the core division is willing to take to transfer internally?             save: $12.50 / 2 = $6.25 / core

Min. TP = $20 + $6.25 = $26.25 / core


What is the maximum transfer price per core that the Finishing Division is willing to pay to transfer internally?

$25 / core  (market price)


What will maximize overall company profits? [4 pts.]

Shut down the Core Assembly division and purchase from the market.


Now assume that the Core Assembly Division can either make 20,000 cores and transfer internally or make 16,000 marine cores for marine applications and sell to a marine supplier.  The marine cores sell for $51 each and have projected variable costs of $40 each.


What is the min. and max. transfer price?

Min. TP = $20 + ($176,000 / 20,000) = $28.80 / core transferred); Max. TP = $25


If can shut down, then min. TP = $26.25


What will happen when the Core division has this additional alternative for use of its capacity?  Will this be in the best interests of YoYo?
Core Assembly Division will make and sell marine cores, Finishing will buy from the market. 

12. A multinational corporation has two divisions that transfer an intermediate product from the selling division to the buying division.  If the buying division is in a lower taxed country than the selling division, what should the corporation do with the transfer price to save on taxes?


Lower the transfer price as much as possible.

13. What is a balanced scorecard?

A single report that contains both financial and non-financial measures of performance.

14. ABC systems:


a.
highlight the different levels of activities


b.
limit cost drivers to units of output


c.
allocate costs based on the overall level of activity


d.
generally undercost complex products

15. During October, Mayan produced 700,000 regular ceramic paperweights and Mayan’s production manager counted 2,000 orders; 1,000 maintenance-hours; 2,000 setups; and 2,000 inspections for the regular product line. For October, Mayan’s controller assigned _________ indirect costs to the regular product line.


a.
$43,000


b.
$25,000


c.
$34,000


d.
None of these answers are correct.


[($45,000 / 90,000) x 2,000] + [($300,000 / 15,000) x 1,000] + [($270,000 / 45,000) x 2,000] + [($105,000 / 21,000) x 2,000] = $43,000

16. A well-designed, activity-based cost system helps managers make better decisions because information derived from an ABC analysis:


a.
can be used to eliminate nonvalue-added activities.


b.
is easy to analyze and interpret.


c.
takes the choices and judgment challenges away from the managers.


d.
emphasizes how managers can achieve higher sales.

THE FOLLOWING INFORMATION APPLIES TO QUESTIONS 17 AND 18:

LeBlanc Lighting manufactures small flashlights and is considering raising the price by 50 cents a unit for the coming year. With a 50-cent price increase, demand is expected to fall by 3,000 units.





Currently
Projected


Demand 

20,000 units
17,000 units


Selling price
$4.50
$5.00


Incremental cost per unit
$3.00
$3.00

17.
If the price increase is implemented, operating profit is projected to:


a.
increase by $4,000


b.
decrease by $4,000


c.
increase by $6,000


d.
decrease by $4,500


[17,000 x ($5 – $3)] – [20,000 x ($4.50 – $3.00)] = increase of $4,000

18.
Would you recommend the 50-cent price increase?


a.
No, because demand decreased.


b.
No, because the selling price increases.


c
Yes, because contribution margin per unit increases.


d.
Yes, because operating profits increase.

19. For decision making, a listing of the relevant costs: 


a.
will help the decision maker concentrate on the pertinent data


b.
will only include future costs


c.
will only include costs that differ among alternatives


d.
All of these answers are correct.

20. Qualitative factors:


a.
generally are easily measured in quantitative terms


b.
are generally irrelevant for decision making


c.
may include either financial or nonfinancial information


d.
include customer satisfaction

21. One-time-only special orders should only be accepted if: 


a.
incremental revenues exceed incremental costs


b.
differential revenues exceed variable costs


c.
incremental revenues exceed fixed costs


d.
total revenues exceed total costs
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